chapter :# simple linear equations

algebraic equation:when we connect to algebraic expressions with the help of
equal to sign we get a algebraic equation™]
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Elinear equation: an algebraic equation who's highest
degree is one is known as linear equatioﬂ
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Ilinear;gquation in one varjable: a linear equation which
_consists of only one variable is known as linear equation
in one variable
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1. Form an equation for each of the following statements.

(a) A number increased by 3 is equal to 5.

(b) 3 times a number added to 7 gives 13.
(c) One number is twice the other and their sum is 15.

(d) Half a number is 18 less than twice the number.
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2. Solve the following equations using the trial and error method.

(@) 2x+4=8 ) 11+2x=19 (o) 2_3 (d) §+5=7
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